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Priklad 1123 4] @] % |N
Opravuje
ID [10]10] 10 [10] 40 14
g
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Priklad 1123 4] @3] % |N
Opravuje
ID l10] 10| 10 [10] 40 14
2 0|05 1 |0 |15]|375|Fx
6 055 |95 |0 | 15 | 37.5 | Fx
1337 9|10 10 |7 |36 | 9 |[A
90909 5(5 |10 |0|20]| 50 [E
524785 75| 7 | 10 | 2 |26.5(66.25| D
Alt+F4 5|05| 8 |3 [16.5[41.25|Fx
AY11 857 | 8 |3 |265(66.25|D
Berry5 51| 5 10 | 0 | 20 50 E
Chanik 5|9 |95]|2 |255(63.75|D
Ctrl+V 5|7 |10 |3 |25 |625|D
Ctrl+X 5|7 |10 |6|28| 7 |C
Danylo 2 05| 6 | 2 [10.5]26.25 | Fx
fako4 6| 1|7 |3]|17 |425 |Fx
GOATXD 9 |10 |10 |2 |31 |775]|C
grynn 9110 | 9 4 | 32 80 B
Jahon7 5105 10 | O [15.5|38.75 | Fx
linaiv 7118 [2]18] 45 [Fx
Lucfuk 6|10 | 6 |4 |26| 65 |D
ME3zK9 |55| 7 | 7 | 0 [19.5|48.75 | Fx
puer21 7|7 |8 |42 65 |D
TV72 73|72]|95|0 |24 | 60 |D
utichr 89| 7 | 10 | 4 |299|74.75| C
vitmar 55| 1 | 10 | 1 [17.5|43.75 | Fx
yehor1 6 | 5 1 0| 12 30| Fx




